
Blood Relation Questions Overview
Blood Relation Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is

similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to

elaborate the concept used in Blood Relation Questions.

Blood Relation Questions
Direction: Read the following information carefully and answer the question given below. There are eight members in a

family across three generations. L's brother-in-law is the husband of T, who doesn't have son. Z is the grandson of M, who

is the husband of N. N has two children of different genders. S is the paternal aunt of V. T doesn't have sibling. There are

equal number of males and females in the family.

Question
What is the relation between Z and V?

Difficulty : Moderate Average Time : 50 Seconds

Options :
1. Siblings

2. Couple

3. Either 1 or 4

4. Cousins

5. None of these

Solution
The correct answer is Option 4 i.e. Cousins

Understanding Application
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For

understanding

the relations:
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From the

statements:

L's brother-in-

law is the

husband of T,

who doesn't

have son. T

doesn't have

sibling. (This

means, T's

husband has

a sibling)

N has two

children of

different

gender. (N

has a son,

who is the

husband of

T, and a

daughter, who

is the wife of L

and T is a

female)

Z is the

grandson of

M, who is the

husband of N.

(This means,

N is the wife

of M and

Z would be

the son of L

as T can't

have son)

S is the

paternal aunt

of V. (This

means, S

would be L's

wife and V

would be T's

child)

Now,

remaining

person K

would be S'

brother.

As, There are

equal number

of males and

females in the

family. (V

would be K

and T's

daughter)

Z and V are cousins.

Hence, Cousins is correct.

Page No: 3

https://www.gargi.ai/question-answer/what-is-the-relation-between-blood-relation-questions-for-banking-48147
https://www.gargi.ai/

